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Subtraction (Vertical) Name:
Solve each problem. Answers
1
H 75 2 5,827 3 896 4 8,773
- 54 - 20 - 95 - 84 2.
3,
4,
5 202 6 8,651 7 818 8 6,271 >
- 8 - 1,409 - 7 - 8 6
7.
8.
9 9,994 100 89 1) 4,693 12) 3,047 0.
- 5,725 - 6 - 1,449 - 243
— — — — 10.
11.
12.
13) 435 14) 34 15 4,908 16) 61 13,
- 348 -13 - 51 - 45
- 14.
15.
16.
17) 7,234 18) 682 19) 419 20) 852 17.
- 6 - 183 - 52 - 95
18.
10.
20.
1-10 [95] 90] 85] 80 75| 70| 65] 60] 55| 50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
1, 21
1) 75 2 5,827 3 896 4 8,773
- 54 - 20 - 95 - 84 » 5807
21 5,807 801 8,689
3 801
4 8,689
5 202 6) 8.651 7 818 8 6,271 > 194
- 8 - 7,409 - 7 h 8 6. 1,242
194 1,242 811 6,263
- 811
8 6,263
9 9,994 100 89 1) 4 693 12) 3047 o. _ 4,269
- 5,725 - 6 - 1,449 - 243
e S— SEatninis - o 83
4,269 83 3,244 2,804
1. 3,244
12 2,804
13) 435 14) 34 15) 4,908 16) 61 13, 87
- 348 -13 - 51 -45
87 21 4 857 16 w_ 21
15, 4 857
16, 16
1) 7,234 18) 682 19 419 200 852 7 1,228
- 6 - 183 - 52 - 95
7,228 499 367 757 18, 499
19. 367
20. 757
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction (Vertical) Name:
Solve each problem. Answers
1,242 8,689 2,804 3,244 4,269
6,263 21 811 5,807 801 1.
194 83
2.
) 75 2) 5,827 3 896 3.
- 54 - 20 - 95
E— — 4,
5.
6.
7.
4 8,773 5 202 6) 8,651
- 84 - 8 - 7,409 8.
9.
10.
11.
7 818 8 6,271 9 9,994 12.
- 7 - 8 -5,725
10 89 11) 4,693 12) 3,047
- 6 - 1,449 - 243
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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